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Step 1
Input fuzzy texts

using a colloquial style.

Not need to input ™~ and ()
(e.g.) 1/(a”™2+1)




1
a+1

DAHFE

Step 2

Hit the space key to start
conversion process.

A list of the conversion
candidates is shown.

« Conversion target
: Yellow highlights
 Red line
: An operand
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Step 3

Extend the red line to 1

by using the right arrow
key.

1/a2+1

1/a2+1
]

a2+ 1
1 1=a2+1
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Step 4

Choose the desired symbol
from among the candidates.

« Switch the current
candidate
: Space or Arrow key
 Fix the candidate
: Enter key
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Step 5

The conversion target

moves on to next element
to the right.

« Switch the current candidate

: Space or Arrow key
 Fix the candidate

: Enter key
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Step 6

The conversion target
moves on to
an unexpressed operator.

« Red Line

: An operand
 Fix the candidate

: Enter key
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Step 7

Shorten the extent of the
red line by using the left
arrow key.
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Step 8

Process completed.

Available Output Form
« LaTeX

 MathML
 PNG
* JPEG
 Maxima
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Expansion of (z + a)(z + b)

I Question 1/ 10

Expand the following expression.

(z+1)(z +4)

Hint

Formulas1 :

o
(z+a)(m+b)=z2+(a+b)m+\aﬁ

Courses | Drills | Sign out

This application requires a Java Runtime Environment.

» Reboot MathTOUCH
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Expansion of (z + a)(x + b)

I Question 1/ 10

This application requires a Java Runtime Environment. » Reboot MathTOUCH

Expand the following expression.

(:2: + 1)(37 + 4) % OutputForm ADHR—K(I)
Hint X +5x+4
Formulas1 :
P N LS

(z+a)(z+b) =22+ (a+b)z+ ab
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Work
Expansion of (z + a)(x + b)
' Question 1/ 10
E d the foll ) X ThissPplication requires a Java Runtime Environment. “
xpan e following expression.
(:2) + 1)(:3 + 4) &% OutputForm ADHYHR—K()
Hint X+ 5x+4
Formulas1 :
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(z+a)(z+b) =22+ (a+b)z+ ab
S
(MEZEANBAlashEAH LY TE BB X XEER
: Input area -
Question area G & e
-
i st T
g [TShife B8 VEnter kpph
g omxrmm i Emn (UL e EL GNP A




Courses | Drills | Sign out

[ Work

Expansion of (z + a)(z + b)

I Question 1/ 10
This application requires a Java Runtime Environment.
Hit the enter key to move

on to the next question. W% OutputForm ANYMR—H()

X +5x+4

Expand the following expression. k

(z+1)(z +4)
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Expansion of (z + a)(x + b)

I Question 2 / 10

Expand the following expression.

(z+5)(z+1)

Hint
Formulas1 :

——
(a:+a)(m+b)::z:2+(a+b)a:+\a’b_
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» Reboot MathTOUCH

This application requires a Java Runtime Environment.
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